MHYBV2*2*1/0.970 0 0 0000000

gogn MHYBV2*2*1/0.970 0 00000000
godn goobobooboodd

HEN 6.80/0

goon go:0booggo

0000 :MHYBV2*2*1/0.97
guoooob:oobbuogogooo

0000 000000000
0000 15832680396 15832680396
ot

MHYBV2*2*1/0.970 0 00000000

MHYBVUO U U U OO oooouoobooooouooboboooooobbbuooooon
gobbooboooooad

MHYBV2*2*1/0970 0 00000 nogdn

oooobooooboobo:oo o MHYV MHIYV MHYBVY,MHYAV,MHYA327/0.28 7/0.28 1/0.8
1/71.0+200 000000 Q/kms< 45< 73< 36.7< 25.80 O O J (800~1000HZO dB/km< 1.1< 1.30
<09<07+200 000000 MQ .km= 30000 00O OO OO 800~1000HZO uF/km

< 0.060 0000 0O O 800~1000HZO dB/km= 70001 O [0 800~1000HZ) mH/km< 8000 DO OO OO -
15KV/IminD OO O0OD0O0O0 -<s 0002%

O000:0000000b-400 ~+500 0000002 -100 U250 0000< 95%
MHYBV2*2*1/0.970 0 00000000

gooobobooooMHYYVOUODO2 1000D00DO0O0000z 000 OO0000oooDODO.
...................... MHO O OO v DO O O O O e Yo o o g oo O



D000 00000000 00D0000 0000 MAYBV2?2*1/097000000O0DO0O0OO


http://www.tcpdf.org

